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QUESTION 1

You are in a project with teams from other departments of the company. It is necessary to collaborate not only creative
ideas but also the data with the other departments. In the Big Data Cloud Service, you need to copy data that is in very
large files between HDFS on your cluster to their cloud storage.

Which utility is more efficient for copying large data files?

A. odcp

B. ftp

C. fastcopy

D. scp

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/copy-data-
odcp.htmli#GUIDAE8587AF-6538-43A6-A2F3-52D63E287788

QUESTION 2

Big Data Cloud provides you the agility to rapidly and securely build, deploy, and grow your big data platform. It can
easily scale to your varying workload demand. Which statement is NOT true regrading Oracle Big Data Cloud\\'s feature
in agility?

A. You must scale Compute nodes and Storage nodes together at the same time.

B. You can elastically scale only Storage nodes.

C. You can scale Compute nodes and Storage nodes independently.

D. You can elastically scale only Compute nodes.

Correct Answer: A

QUESTION 3

You need to enforce network encryption, as Kerberos authentication does not protect data as it travels through the
network. Hadoop being a distributed system means that data must be transmitted over the network across machines.

Which is NOT a network communication protocol used network encryption?
A. Direct TCP/IP

B. HTTPS

C. SSl

D. Hadoop RPC
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Correct Answer: A

QUESTION 4

Big Data Cloud has tools for easy provisioning, managing, and monitoring of Apache Hadoop clusters. Which
component does Oracle Big Data Cloud use as the platform stack for cluster orchestration and provisioning?

A. Cloudera Manager

B. Apache Ambari

C. MapR Control System

D. Oracle Enterprise Manager

Correct Answer: B

QUESTION 5

Given: A Kerberos principal is a unique identity to which Kerberos can assign tickets, and a realm is where the Kerberos
database is stored.

What is the realm used by Big Data Cloud Service?
A. bigdatacloudservice.oracle.com

B. bdcs.oracle.com

C. bdacoudservice.oracle.com

D. bigdata.oracle.com

Correct Answer: B

QUESTION 6

You have data originating from different sources and the data is not structured the same way. You need to combine the
data from those heterogeneous sources into integrated, consistent, and unambiguous information so you can discover
the relationships of the data.

Which Oracle Big Data Connector should you use?

A. Oracle R Advanced Analytics for Hadoop

B. Oracle Big Data Spatial and Graph

C. Oracle Non-relational Data Integrator

D. Oracle SQL Connector for Hadoop Distributed File System

Correct Answer: D
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QUESTION 7

ABC Company maintains two Hadoop clusters, one for test and one for production. One of the developers wants to copy
a data file from the test to the production environment.

Which two are possible options to accomplish this?

A. Use Flume to ingest the file again and deliver it to production.

B. Back up the file to tape and restore it to the production cluster.

C. Use an FTP command to copy files between the test and production environments.
D. Use the hdfs dfs -cp command to copy the file from test to production.

Correct Answer: CD

QUESTION 8

HDFS Transparent Encryption protects Hadoop data when you perform read and write operations on encrypted zones.
The disk where the HDFS directories are stored will be automatically encrypted and decrypted. HDFS Transparent
Encryption must have Kerberos enabled and two principals are created as part of the Kerberos configuration.

When are the two principals created?

A. They are created when you create a cluster with Security Setup enabled.

B. They are automatically created in Big Data Cloud Service for Kerberos with your Oracle Cloud account.

C. They are created when you create an HDFS directory.

D. They are created when you create your service instance with Security Setup enabled.

Correct Answer: AD

Reference: https://docs.oracle.com/en/cloud/paas/big-data-cloud/csbdi/using-hdfs-
transparentencryption.html#GUID-9DD5DC54-B7FF-4DCA-ACB6-9118F602DA11

QUESTION 9

Which is NOT a characteristic of an edge node in Big Data Cloud Service?
A. You can remove an edge node once it is part of a cluster.

B. You have full use of Cloudera Enterprise Data Hub Software.

C. You may store data in the Data Nodes.

D. Each node has 48 TB of storage.
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Correct Answer: A

QUESTION 10

Oracle Event Hub Cloud Service is supported by many of the Oracle Cloud platforms. Which two are options of where
you can deploy Event Hub Cloud Service (Apache Kafka)?

A. in Oracle Public Cloud Data centers

B. in Azure data centers

C. in Rackspace data centers

D. in AWS or Azure data centers

E. in the Customer\\'s on-premises data centers
Correct Answer: AE

Reference: https://cloud.oracle.com/en_US/event-hub/features
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